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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

1

(2) Necessary calculation as a part of answer.

(a) If fixed exp. is Rs. 8,000
Break even point is Rs. 40,000
Variable exp. is Rs. 64,000
Find out :

(1) Profit - volume ratio
(2) Total sales
(3) Profit.

(b) Ravi Manufacturing Company Ltd. give current
dividend Re. 1 per share and the market price of its
share 1s Re. 20. Number of share is 1,00,000. Profit
growth rate per share is 9% and the company pays 50%
tax on profit.

Now decide the target profit.

OR
A Company sells products "A" and "B", the details of

which are as under :

Particulars Product-A Product-B
Sales price Rs. 5 Rs. 10
Variable exp. Rs. 4 Rs. 3
Sales unit 36,000 12,000
Fixed exp. Rs. 30,000 Rs. 30,000

With the purpose of improving profitability the company
stops selling product "A" and starts selling product "C".
Sales of 6000 units of product 'C' possible, its selling price
and variable exp. is Rs. 12 and Rs. 6 respectively. In both
the situations.

Find out the profit and decide which combination should be
adopted.

(a) Explain in short :
1) FDI
(2) ADR (American Depository Receipt)
(3) PSU (Public Sector Undertaking)
(4) Foreign Exchange

(5) Currency.
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(b)

(b)

What is currency exchange rate ? Discuss its 10

importance and uses.

OR

Write a note on Accounting Standard for Currency 10
Exchange Rate (AS - 11).

Jamana Ltd. is a dealer of Medicine. They exported 10
the goods of § 1,00,000 to Mrudul Ltd. in Texas on
15-12-2016. They received amount on 5-1-2017. The
exchange rate was 1 § = Rs. 60 on the day of export

bill and when the amount was received in dollars the
exchange rate was 1 § = Rs. 62.50. According to the AS

- 11 do necessary dealing note in the account book of
Jamana Ltd.

3  Describe the scope of Environment Accounting. 15

OR

3  Explain the process and limitations of management 15

control strategy.

4  Write short notes : (any three) 15

(1)
@)
(3)
(4)
(5)

Features of Cost Control
Environmental Audit

Objectives of Cost Reduction
Objectives of Cost Management

Cost Improvement.
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